Parts & Assemble

QTY

Body

Fixing plate

Main arm

Track

Stopper

Spring plate

Fixing part

Fixing screw M8

Wrench 5mm

M5x12L

Washer

M5x15L

3/16"x1"L (wooden screw)

M5x12L

M5x15L

Slel el ISEIEIISICIG S ISP

3/16"x1"L (wooden screw)

Alalalaln|lalalajlajlajlalajlala|ala

Speed adjustment

Latching adj

Fast Slow

Latching angle

Closing angle

Opening angle (Hold
open adj.)

=)

Closing adj

. Suitable for RH/LH USE
INSTALLATION

be chamfer.

N

/® Fixing and installation of the body Y9 ®3/16"x1"L

The screw holes for the
M5xp0.8 screws should

©M5x15L
®3/16"x1"L

N

Stopper
Spring plate
Fixing part

/@ Combining the main arm and body

Main Arm

@ Combining the main arm and the sliding plastic part in

T

Fixing screw M8 ———

&

N

the track

@ Opening angle and closing speed adjustment .




— Concealed Door Closer For Wooden Door Concealed Door Closer For Steel Door

® Left hand opening ® Left hand opening

38 40 38 40 22

1He ek . X - 1@ ; X
THe 82 HOO o 4O
75" | Jers| 219 [195] | 7.5 75 | Je1s| 219 195 | 75

210

170

275 | 275 |
(63) Ve S T I S T |
P P - [ 1 1
o d D= Y ma | Door h o o &) | Door
287 | 287 |
310 310
g lo——Jo—Fo——————@0————— macad —Jo———————4 S Loe
= — _LI:U _____________ — L4y - - 4 — — ]
8 148 148 148 3 148 148 B
50 460 o 90 460 =
F=MSXISL 29 FM5xISL 29
Door 1l I f—a-a16marL I 0 2 Door I I f 4-s 1601 il 7
N — —_— —— — — — — — = o = N = —_— = = oS
Fame® [ — — T ~—_ __ — — — " T T o o T Frame? [ — — T [ ~—_ 9 | o
5 =1 Nl Tal 5 (ol 1 . i
Il oor Eﬁ-wu:)_{H; ol ] ot MITET S Door %_UJU:)_{H} Gl | i o g
® AN ) 4-M5x15L ° ) NN J PR || o
e al 4-37167x1"L R YR = * R 5 a
S | o | )
I O] OTd O] O d
—
70 235 765 . 215 110 235 765 . I
I 170 | [e2s ] 210 | 385
' ! 230 ' 230

& Right hand opening & Right hand opening

40 __ 38 40 __ 38
| -
LA 2@ @ LAS gt 7@
OZ0] oG OLCL AO I
e o ® N N
75| |19.5] 219 lers] | 75 75| 195] 219 lers] | 75
170
70
| 275 Hinge | 275
Door : —V - °® = ﬂ?@— 9 Door || Door : +@ L - 3y %F-@—
| Nl N b 7 @ oor i, Door | Nl D @ b 7
' Frame '
| 287 | 287
310 310
P & e sl &l P R & ar— " all Ao
. 37 3 < [q AL Y 0 3 & Fl
_:gl_ _____________ u:\_u. —_— ] _E_ _____________ u:\_u. e
B 148 148 148 B B 148 148 148 8
460 50 — 460 90 T
L) - 29 15 I
i 2—25 o Il il 1 Door o il e ] Il fl1Door |3
—————— 0 — — — — — — — — — — — BN _— — — — — & = — — — — — — — — — — N «Q
o o) ﬂ _____________ T 1A Frame o, UCDL] o g _____________ _——"TW _ _ ]4Framej®
P | o toy ) @ 1 | {= [Toy 1o ) @ — ]
e R = = N T Door : Soa ¢ ;%Tﬁll o N =¥ Door
RUED T H o Ms ol A e o
a3 ) i ] (k= a3 o N ]
Dagd i) 3 OTAd ©]
— B
_ 765 P35 70 215 765 |35 110
e &S i 170 | S - i 210
230 ' ' 230 '




